MAIIRCY

POWER TOWER
TC-7348

C::t:hﬁﬁaaﬂ
=
. _Eéég%
' 4
[j SN
oA
{,jﬁi’fﬁlff Ij
A o L 1
,j:fﬁ |II |II II
é':f @ III I'I |I
4] ) |I |I |I
: |~
. {'j{’ f; o { !T\:@
xf,/* v @ ﬁgg;;;;’?ﬁ?
g % Pl
@_‘i—'—'{f{{{i =~ : “ff%“f‘ﬁ
- ’ffj, -5
'~

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.
Assembly Manual

TTENTION! Veuillez lire attentivement I’Avis de sécurité important ainsi
que le Mode d’assemblage dans le Manuel de I’utilisateur avant
d’assembler cet appareil.

Guide d’assemblage

220722




% \ ’ < [

><2 @:ﬂ x2 @x4 x2

@ =

©lmpex Inc. WWW.marcypro.com



336 —)

@F IR g Y

8#x1

c 1 2 3 4 5 o 7 8 9 10 11 12 13 14 1

|\||||||||y|‘||[||||‘||||||||||||||‘|||||||‘|||||||||||||‘|||||||‘|\|||‘|\|||||’|\||||||
1}? 2}/ 3}/ 4}) 5ff 6”

0

©lmpex Inc. WWwWWw.marcypro.com



©lmpex Inc. WWW.marcypro.com



M10x23"
M10

5

4
4
4

@@@

& @ ®

www.marcypro.com

©Impex Inc.



e
o
x
o . o
b [sp) 4 by
s 9 s
<~ 2 b
x x x

www.marcypro.com

©lmpex Inc.



x 4 M10x1"

x 2 M10x3"

x 2 M10

& ® ©

X
o
V&

©lmpex Inc. WWW.marcypro.com



M10x1
M10x33"

N m =
ho o<t
o s B
N N S <+ ©
X X X X X

R ©®®@®

www.marcypro.com

©lmpex Inc.



www.marcypro.com

©lmpex Inc.



M10x33"

¢1%ll
(D%ll
M10

10
10
10
10

R ®©® @

www.marcypro.com

©lmpex Inc.



10

www.marcypro.com

©lmpex Inc.



6
6

11

www.marcypro.com

©Impex Inc.



12

www.marcypro.com

©lmpex Inc.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
www.marcypro.com
support@impex-fitness.com

©lmpex Inc.

13

www.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

